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Topic:- MAIN_Professional Knowledge

1) Which of the following diode is used for Panel indicator?

QAP HIvET SRS Yd IS WU ITURdT STal?
[Question ID = 8845]

1. Varactor diode / IRFR SIS [Option ID = 35500]
2. Tunnel diode / @ STATS [Option ID = 35499]

3. LED / T@sSl [Option ID = 35497]

4. Zener diode / SR SIS [Option ID = 35498]

Correct Answer :-
« LED / Uelsal [Option ID = 35497]

2) Which of the following statement is NOT true about Squirrel Cage Induction Motor?

1. It is less efficient than Slip ring (wound rotor) Induction Motor

2. It requires less maintenance than Slip ring (wound rotor) Induction Motor
3. It is cheaper in cost than Slip ring (wound rotor) Induction Motor

4, It has low starting torque than Slip ring (wound rotor) Induction Motor

relada! B AU fGpvd oo S8R A=A diddid SRR ATe1?

1. 9 f&u 1 (g8 AeR) SsRM HieR Uer e SrieH ATEl.

2. T &g {1 (5 Aex) TSR i UeT FHl TTHT TS 3.
3. g f&qu f&n (g5 Aex) SeRM diex Uen W@ 9g.

4. QAT TWIfén e Ry fA (g3 vex) SsaR Hier van & 3.

[Question ID = 8856]

1. 2 only [Option ID = 35542]
2. 1 only [Option ID = 35541]
3. 1 & 4 [Option ID = 35543]
4. 1 & 3 [Option ID = 35544]

Correct Answer :-
» 1 only [Option ID = 35541]

3) Which of the following impurities is NOT tetravalent?

T AT HIUTT SRYam aATd A~ ATEN?
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[Question ID = 8843]

1. Aluminium / 3{GfAFTH [Option ID = 35489]
2. Germanium / STHITH [Option ID = 35492]
3. Silicon / ffere 19 [Option ID = 35490]

4. Carbon / T8 [Option ID = 35491]

Correct Answer :-

+ Aluminium / 3GHTH [Option ID = 35489]

4) Which of the following is not a type of file?

GTad®] BT BISd °T YPR AT81?
[Question ID = 8820]

1. Square file / TRY HTsd [Option ID = 35398]
2. Flat file / §UTC BTsd [Option ID = 35400]

3. Rectangular file / M&?ﬂ@-ﬁ hIgd [Option ID = 35397]
4. Triangular file / GV BTEd [Option ID = 35399]

Correct Answer :-
« Rectangular file / ATl WISA [Option ID = 35397]

5) Which of the following is filled around the earth electrode to reduce the resistance of earth ?

3refar gfaeR i Hrvarardt @rdia 9t w1 o saaeissn Hiddt WRara?
[Question ID = 8860]

1. Water / TToft [Option ID = 35559]

2. Salt and coal / HI& 311f01 &4 [Option ID = 35557]
3. Copper and zinc / IR USRS [Option ID = 35560]
4. Wood / i [Option ID = 35558]

Correct Answer :-

« Salt and coal / & 30T ®Ied¥T [Option ID = 35557]

6) Which of the following internal composition does not contain four layers?

Qrte VB! BT SRS IS IR TR ATEI?
[Question ID = 8866]

1. DIAC [Option ID = 35582]
2. UJT [Option ID = 35581]
3. SCR [Option ID = 35584]
4. TRIAC [Option ID = 35583]

Correct Answer :-
o UJT [Option ID = 35581]
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7) Which type of earthing is represented by the following figure?
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[Question ID = 8838]

1. Plate earthing / e sfffi [Option ID = 35470]
2. Pipe earthing / UISU 3ifdfr [Option ID = 35469]
3. Strip earthing / ]%C[ 3iffr [Option ID = 35472]
4. Rod earthing / J1S 31T [Option ID = 35471]

Correct Answer :-
« Pipe earthing / U13u 3iffiT [Option ID = 35469]

8) Band gap (energy gap) of Diamond is
sTaHSH §Us Y (St 3idR) 3Te.
[Question ID = 8842]

1. 6 eV [Option ID = 35485]
2. 0.2 eV [Option ID = 35486]
3. 2.5 eV [Option ID = 35488]
4. 9 eV [Option ID = 35487]

Correct Answer :-
* 6 eV [Option ID = 35485]

9) V-I graph is a straight line for
V-1 1% T3} TP W YT 3Tg.
[Question ID = 8824]

1. Varactor diaode / @¥aeR SIS [Option ID = 35415]

2. Gunn diode / T STA1S [Option ID = 35416]

3. Thermistor / 3i® [Option ID = 35414]

4. Copper electrode / TeATaT Saidels [Option ID = 35413]
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Correct Answer :-
« Copper electrode / AieATAT SaidCIS [Option ID = 35413]

10) Output signal of a common-emitter amplifier is out of phase with the input signal.
PI--TRER ATRABRRAT 313 ege Ry g $Yc Rya 9% 3ae 3% Bl 3Te.

[Question ID = 8848]

1. 90 degrees / 90 f&ht [Option ID = 35510]
2. 180 degrees / 180 fsiht [Option ID = 35509]
3. 45 degrees / 45 TSUT [Option ID = 35511]
4. 0 degrees / 0 f&4t [Option ID = 35512]

Correct Answer :-
+ 180 degrees / 180 f&Ut [Option ID = 35509]

11) In a pure capacitive circuit, current voltage and power factor is

TG PRI Jfheas B Fleds 3ATOT UTaR Haer 3Tg.

[Question ID = 8837]

1. Lags, zero / F\Iﬁﬂ, X[ [Option ID = 35466]

2. Is in negative phase with, unity / gﬁ?ﬁﬂ'&’ fRifea e 7 3R [Option ID = 35468]
3. Is in positive phase with, unity / gFEg difsifcd Ul G 3{Tg [Option ID = 35467]
4. Leads, zero / ©g , I [Option ID = 35465]

Correct Answer :-
« Leads, zero / WIS , A [Option ID = 35465]

12) In a CRO, time taken by a beam to excite a definite area of phosphate can be adjusted by
control.

W ved, widhed Ts fAfda &= Sxfora Hrvar T fHum Saden daagar RI JHTEIoa
FA TS X@d.

[Question ID = 8864]

1. Boundary condition / TtHT Rl [Option ID = 35574]
2. Time/division / 9 / fTAUTT [Option ID = 35573]

3. Sweep / W19 [Option ID = 35576]

4. Gain condition / T &t [Option ID = 35575]

Correct Answer :-

« Time/division / 9 / faymT [Option ID = 35573]

13) In an intrinsic semiconductor, contribute towards electrical conductivity.
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[Question ID = 8841]

1. Both holes and electrons / Gl &% 30T eiaei~T [Option ID = 35481]

2. Electrons / ad¢i~d [Option ID = 35482]

3. Neither holes nor electrons / %_5‘2, saaej’:f g fg =gt [Option ID = 35484]
4. Holes / f5% [Option ID = 35483]

Correct Answer :-

« Both holes and electrons / @il f&s SMfOT sﬁHEA'VF\‘:I [Option ID = 35481]

14) In a concealed wiring system, a saddle is established at approximately what distance from the
switch box?

FiIes IR Ugdtd, (9w sTeaurg Jed sigr fardt siarTax sraar?
[Question ID = 8834]

1. 30 cm [Option ID = 35453]
2. 1 m [Option ID = 35455]
3. 60 cm [Option ID = 35454]
4. 5 m [Option ID = 35456]

Correct Answer :-
e 30 cm [Option ID = 35453]

15) In an AC circuit, if reactance is zero, then the power factor will be

AC Tfhened o Y= T 39d o) Ulax Hhaex TEUIR.
[Question ID = 8861]

1. Two / &I [Option ID = 35564]

2. Unity / gf-iet [Option ID = 35561]

3. Zero / Y[ [Option ID = 35563]

4. Infinite / 3fBfAE [Option ID = 35562]

Correct Answer :-
« Unity / A<t [Option ID = 35561]

16) According to 1S:3034-1966, the resistance of Power Wiring Earthing should be
IS:303¥-3R&§ UK, UraR arafe siffrar ufasr 3T ATARTD 3ATE.
[Question ID = 8840]

1. 1 ohm [Option ID = 35477]

2. 0.1 ohm [Option ID = 35478]

3. 0.5 to 1 ohm [Option ID = 35479]
4. 1 Kilo ohm [Option ID = 35480]

Correct Answer :-
e 1 ohm [Option ID = 35477]
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17) FET stands for

Tl WU

[Question ID = 8850]

1. Field-Emission Transistor / ®Ics-THRM TIfRex [Option ID = 35518]
2. Field-Effect Transistor / BiE-3hae EAT%]W [Option ID = 35517]

3. Field-emitting transistor / Bics-THfeT Ejf%lw [Option ID = 35520]
4. Free-effect transistor / T1-gthdc Clf-aRex [Option ID = 35519]

Correct Answer :-

« Field-Effect Transistor / 1c8-Sthac If~aex [Option ID = 35517]

18) Ampere per meter is

e et Hiex 3Tg.

[Question ID = 8823]

1. Capacitance / ®URIe—T [Option ID = 35410]

2. Magnetic Flux / 9910 UaTg [Option ID = 35412]
3. Magnetic Field Strength / W‘C{ & qrf [Option ID = 35409]
4. Self Induction / Yo TSRME [Option ID = 35411]

Correct Answer :-
» Magnetic Field Strength / ﬂ'@lﬂﬂﬂ RE] g [Option ID = 35409]

GET IT ON
Google Play

19) If a piece of iron is to be electroplated by gold layer, find the mass of gold layer deposited on its
surface in 10 minutes if current flowing is 50 A and magnitude of E.C.E. is 0.0003.

TR TETRT ARG ST P SdIay ATl aTHT ¢S ST ed] SR 3-d av dee Yo T 31T 5. 5.3

THTUT 0,0003 RIFITH 20 ffreTd @rear ygyraR fodt Si=aman gara giga o Jim?

[Question ID = 8828]

1. 9.0 g [Option ID = 35429]
2. 4 g [Option ID = 35430]

3. 4.5 g [Option ID = 35431]
4. 8.2 g [Option ID = 35432]

Correct Answer :-
e 9.0 g [Option ID = 35429]

20) We will be going to make a if we mix Phosphorus with silicon.

BIEEy 31T Rifereia g fygor s Mo TUR PR ATE.

[Question ID = 8829]

1. n type semiconductor / T UHRaT Jfdedex [Option ID = 35433]
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2. insulator / ﬁﬂﬁlﬁ% [Option ID = 35436]
3. p type semiconductor / G TR JfH eI [Option ID = 35434]
4. diode / STITS [Option ID = 35435]

Correct Answer :-
« n type semiconductor / T UHRT AfHdHSaeX [Option ID = 35433]

21) If the peak value of the Alternating Current is 230 V, its average value will be

JEETATT HcA HHTA oI 30 FeT AT, T IRTHT Ted 3.
[Question ID = 8826]

1. 184.3 V [Option ID = 35424]
2. 146.28 V [Option ID = 35421]
3.220.2 V [Option ID = 35422]
4.171.7 V [Option ID = 35423]

Correct Answer :-
e 146.28 V [Option ID = 35421]

22) If the synchronous speed of a motor is 1000 rpm whereas its supply frequency is 50 Hz, what
will be the number of poles in the motor?

a@:%jmwﬁwaﬂ 1000 rpm 3T R WA RAST IRARAT 50 Fgl 3™ @) Aiexaed faedt uia
?

[Question ID = 8859]

1. 10 [Option ID = 35556]
2. 4 [Option ID = 35554]
3. 12 [Option ID = 35555]
4. 6 [Option ID = 35553]

Correct Answer :-
e 6 [Option ID = 35553]

23) If the teeths of a tenon saw are worn out, in order to make the teeth sharp,

9 97 =1 ST I YR 1Y STedT, AT YR HRUGTHTST

[Question ID = 8822]

1. It must be rubbed on the floor. / d TRRMaR grEd Ulfgaid. [Option ID = 35408]

2. It must be rubbed with a triangular file. / &TR Eﬁﬂﬂ? IS U UIfget. [Option ID = 35405]
3. It must be heated / & ATafda UIfgSid. [Option ID = 35407]

4. It must be tempered / d TR & UTgold. [Option ID = 35406]

Correct Answer :-
« It must be rubbed with a triangular file. / TR TRITR WHTsd TGl UIfgal. [Option ID = 35405]
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24) In synchronous generator, voltage regulation is NOT always positive for

RispI T S vewwed, giecwrd Faw g T3 AP RTHS 9.

[Question ID = 8854]

1. capacitive load W?ﬁg [Option ID = 35536]
2. Inductive load / 3FJAF® @S [Option ID = 35535]
3. Resistive load / UfaRI¥® IS [Option ID = 35534]
4. Leading load / TR S [Option ID = 35533]

Correct Answer :-
« Leading load / 3URJ @IS [Option ID = 35533]

25) Electrodynamometer Instrument measures

[Question ID = 8858]

1. DC only / Tad DC [Option ID = 35550]

2. AC and DC both / AC 3o DC [Option ID = 35549]

3. AC only / Tdd AC [Option ID = 35551]

4. Neither AC nor DC / AC 3TfOT DC GIHT AITgT [Option ID = 35552]

Correct Answer :-
e AC and DC both / AC 31fOT DC [Option ID = 35549]

26) Electromagnetic Interference in TN-C earthing system is

Fea- i el saeiite sefh=y 3.

[Question ID = 8839]

1. high / 3= [Option ID = 35473]

2. moderate / A¥IH [Option ID = 35475]
3. low / HThh [Option ID = 35474]

4, very low / U %4t [Option ID = 35476]

Correct Answer :-
« high / 3= [Option ID = 35473]

27) A 3-pin socket has the largest hole of
3-fU Aieawd wafa ais fox ° 3d.

[Question ID = 8833]

1. Neutral or phase / :QEHWTW [Option ID = 35452]
2. Neutral / ¢ d [Option ID = 35450]

3. Earthing / 31fTT [Option ID = 35449]

4. Phase / 9 [Option ID = 35451]
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Correct Answer :-
« Earthing / 3ifdf [Option ID = 35449]

GET IT ON
Google Play

28) Transformer Utilization Factor (TUF) of half wave rectifier is about

3ref-qarge JHUm TIBIHR gReffeR bR (dgEw)
[Question ID = 8847]

1. 1.21 [Option ID = 35506]
2. 1.41 [Option ID = 35507]
3. 0.287 [Option ID = 35505]
4. 0.406 [Option ID = 35508]

Correct Answer :-
e 0.287 [Option ID = 35505]

29) Constant and variable losses in a generator are same. It is working at

TR Hd i< 9 NI AT U SRIdTd. 8
[Question ID = 8855]

1. 25% of maximum efficiency / FHATT BRI 4% [Option ID = 35539]
2. 10% of maximum efficiency / FHHTT HIALHTEAT 20% [Option ID = 35538]
3. 50% of maximum efficiency / ®HII PIAeHTAT 1o% [Option ID = 35540]
4. Maximum efficiency / SHTA HIAEHAT [Option ID = 35537]

Correct Answer :-
o Maximum efficiency / ®HIA Hrded [Option ID = 35537]

q¥ BTH HdId.

30) A collector-to-base bias circuit has the following values:-

RB = 270 kW; RC = 2,2 kW; VCC = 18 V and transistor hFE = 100.

Calculate VCE.

Pade g 99 9199 Aibeqsd @rdia & 3Tgd:-

IS = 270 freiide; R = 2.2 FS&Y; VCC = 18 V 1T IR TITHS = 100.
It felt & @i,

[Question ID = 8851]

1. 10.2 V [Option ID = 35521]
2.3.51 V [Option ID = 35522]
3. 5.1 V [Option ID = 35524]

4. 20.4 V [Option ID = 35523]

Correct Answer :-
e 10.2 V [Option ID = 35521]
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31) Power gain in CB configuration of transistor is

T areve Hiel SIRFRIATS ufaR A9 3Te.
[Question ID = 8849]

1. Very high / 31fc=rI 3= [Option ID = 35516]
2. High / 3= [Option ID = 35515]

3. Low / SHT [Option ID = 35513]

4. Medium / H¥IH [Option ID = 35514]

Correct Answer :-
« Low / %H! [Option ID = 35513]

32) Zener diode are designed to operate under
TR SAIS § 3aifa arervaraTd} fgms= Fa med.

[Question ID = 8844]

1. Neither reverse nor forward bias/ ﬁ%’ﬁ 30T BRAS T Gl el [Option ID = 35496]
2. Forward bias / BRAS Y [Option ID = 35494]

3. Reverse and forward bias both / Regd 3711 ®IRas ST el [Option ID = 35495]

4. Reverse bias / Rregd s [Option ID = 35493]

Correct Answer :-
« Reverse bias / e s [Option ID = 35493]

33) Form factor for an Alternating Current is 1.11. The ratio of its RMS value to Average value will
be

SHTEEAEIT P AT Bid haeR 1.11 318, [Tl ARTHATH T IRTE T o 3Tg.
[Question ID = 8836]

1. 1/v/2 [Option ID = 35464]
2. V2 [Option ID = 35462]

3. 1.11 [Option ID = 35461]

4. 0.732 [Option ID = 35463]

Correct Answer :-
e 1.11 [Option ID = 35461]

34) What is being represented in the given symbol?

feciean st s gxifquara oma emg?
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T T
I . 7k

[Question ID = 8819]

1. Choke / @& [Option ID = 35396]

2. Transformer / TFAWIFR [Option ID = 35393]

3. Variable capacitor / BRI HURTex [Option ID = 35394]
4. Variable resistor / ®RTTA IORER [Option ID = 35395]

Correct Answer :-
o Transformer / ;‘R‘Fﬁﬁﬁ [Option ID = 35393]

35) The following symbol represents

wreita foeg g exfaar

[Question ID = 8853]

1. XNOR gate [Option ID = 35532]
2. XOR gate [Option ID = 35529]
3. NAND gate [Option ID = 35530]
4. AND gate [Option ID = 35531]

Correct Answer :-

e XOR gate [Option ID = 35529]

36) Insulation Resistance is length of the cable.

[Question ID = 8827]

1. Directly proportional to square of / IRITT Y& YA [Option ID = 35427]
2. Directly proportional to / ¢ YA [Option ID = 35426]

3. Inversely proportional to / S UHTUMT [Option ID = 35425]

4. Inversely proportional to square of / T oI AT [Option ID = 35428]

Correct Answer :-
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 Inversely proportional to / &¥d GHIUNA [Option ID = 35425]

37) A long shunt compound generator has an armature, series field and shunt field resistances of
0.04 Q, 0.03 Q and 200 Q respectively. It supplies a load current of 180 A at 400 V. Calculate the
generated e.m.f. Assume contact drop/brush = 1V,

TS1 A9 e HUNGS d-Rexded R, Rafvsr fiees snfor 3rgw 0.0¥Q , 0,030 31T Y000 Tie fires
IR 3. TR Yoo FleewdT 3¢o T FAHT A8 Heedl YRAST Sl ordl. ¥ auR gIv=T 3.UH.UF.
Tfed Bicae JTU/TA=2 FI. I fFNT H.

[Question ID = 8857]

1. 207.37 V [Option ID = 35547]
2. 414.74 V [Option ID = 35545]
3. 428.74 V [Option ID = 35548]
4. 829.48 V [Option ID = 35546]

Correct Answer :-
e 414.74 V [Option ID = 35545]

38) Soft soldering is done at a temperature
e AiesaT ATIHTET B,
[Question ID = 8830]

1. More than 540°C / 540 f&3 Tfca e 8iftieh [Option ID = 35439]
2. Of 720°C / 720 &3t VRT3 [Option ID = 35438]

3. Below 450°C / 450 f&3 Afco Uefm &H! [Option ID = 35437]

4. Of 540°C / 540 f&3 A3 [Option ID = 35440]

Correct Answer :-
« Below 450°C / 450 f&3 T el &+ [Option ID = 35437]

39) The quantities which vary sinusoidally with time are known as

PO JATHISSAl T TUTHS WP gial o THOT BUH T o,

[Question ID = 8863]

1. vector quantities / ®dex ®Ii<eclo [Option ID = 35570]
2. phasor quantities / ok @If¢clol [Option ID = 35569]
3. tensor quantities / TR BIf¢eIS [Option ID = 35571]
4. scalar quantities / THR P [Option ID = 35572]

Correct Answer :-
« phasor quantities / ok @ifwcesl [Option ID = 35569]

40) The melting point of Cadmium is

Fsfraaar faqevarn fag 3ATE.
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[Question ID = 8831]

1. 303°C [Option ID = 35444]
2. 321°C [Option ID = 35441]
3. 327°C [Option ID = 35442]
4. 302°C [Option ID = 35443]

Correct Answer :-
e 321°C [Option ID = 35441]

41) The maximum efficiency of a Class-A power amplifier is

FATH U UTaR SITRABRIR HHTA Sraeddr 38,
[Question ID = 8865]

1. 75% [Option ID = 35580]
2. 50% [Option ID = 35577]
3. 66.60% [Option ID = 35578]
4. 33.30% [Option ID = 35579]

Correct Answer :-
e 50% [Option ID = 35577]

42) The gauge of super enamel wires is measured by

IR 0 a9 = HioTdl ST,

[Question ID = 8821]

1. Wire Gauge / @R 7157 [Option ID = 35401]
2. Steel Rule / Id &d [Option ID = 35404]
3. Try Square / <& W [Option ID = 35403]
4. Screw gauge / ¥ 7I5T [Option ID = 35402]

Correct Answer :-
» Wire Gauge / IR TS [Option ID = 35401]

43) The decimal equivalent of (1110), is

(VR ATIAGESAN____ 38,
[Question ID = 8867]

1. 10 [Option ID = 35587]
2. 12 [Option ID = 35586]
3. 16 [Option ID = 35588]
4. 14 [Option ID = 35585]

Correct Answer :-
e 14 [Option ID = 35585]
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44) The depolarizer in a dry cell is

ST Saus fEuerRasR 3.
[Question ID = 8835]

1. Manganese dioxide / ﬁ?ﬁq‘s@mﬁg [Option ID = 35457]
2. Hydrochloric acid / BT3SRIaaRe 3MTRIS [Option ID = 35460]
3. Sodium Phosphate / HIf$aHq widhe [Option ID = 35459]

4. Ammonium Chloride / 3fAIMIGH FARIES [Option ID = 35458]

Correct Answer :-
« Manganese dioxide / ﬁ?ﬁﬂmﬁg [Option ID = 35457]

45) The following figure is the symbol of:-

WAl ATHdd R Yeltd ATe?

[Question ID = 8846]

1. Varactor diode / @Xdc? SIS [Option ID = 35501]
2. LED / Udsa! [Option ID = 35504]

3. Solar cell /@Fﬂ@ﬁ [Option ID = 35502]

4. Zener diode / SR /IS [Option ID = 35503]

Correct Answer :-
« Varactor diode / ®¥dex SIS [Option ID = 35501]

46) The following figure represents:-

@reita for #1a gxifad?
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[Question ID = 8832]

1. Neutral or phase / gcdl fohar Bor [Option ID = 35448]
2. Neutral / =J&d [Option ID = 35446]

3. Earthing / 31ffiT [Option ID = 35445]

4. Phase / T5df [Option ID = 35447]

Correct Answer :-

« Earthing / 31T [Option ID = 35445]

47) The following figure depicts:-

@l fEma ®1a oxifad sme?

(=]

[Question ID = 8825]

1. Tumbler type single way switch / 7R E‘I‘a‘”q Tl orf g [Option ID = 35418]
2. Fles Type Two Way Switch / TR €184 ga! AT R [Option ID = 35420]

3. Intermediate switch / SexfHfSTUe R [Option ID = 35417]

4. Bed switch / 98 &9 [Option ID = 35419]

Correct Answer :-
« Intermediate switch / ScxfHfSrae f&ga [Option ID = 35417]

48) The following truth table represents:-

QTdid 3 cqaaed § gRifquara oma 3ims:
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Input Output 2
A B Y
1 0 i
T | -
| 0 |
| | 0

[Question ID = 8852]

1. OR gate [Option ID = 35528]

2. NAND gate [Option ID = 35526]
3. XOR gate [Option ID = 35525]
4. AND gate [Option ID = 35527]

Correct Answer :-
e XOR gate [Option ID = 35525]

49) The unit of inductance is Henry but the unit of Inductive Reactance is

gSa-T J UHhd g3l 3T TR ssfaea Refee—d tpa 3e.
[Question ID = 8862]

1. Henry per meter / g1 Uil Hiex [Option ID = 35566]
2. Ohm / 3{IgH [Option ID = 35565]

3. Ohm meter / 3189 Hiex [Option ID = 35567]

4. Ohm per Henry / 3gH Uit g9t [Option ID = 35568]

Correct Answer :-
« Ohm / 3figH [Option ID = 35565]

50) Rubber valve of artificial respirator must be operated

PO YIAGAUIRER Gl 9TuReT uTfgel.
[Question ID = 8818]

1. 15-20 times/minute / §4-30 da51/ffe [Option ID = 35389]
2. 2-4 times/minute / 3-¥ 9e1/flfAe [Option ID = 35390]

3. 60-90 times/minute / &o-Ro da51/fAfAE [Option ID = 35392]
4. 45-60 times/minute / ¥4-&o 9a1/[fe [Option ID = 35391]

Correct Answer :-

« 15-20 times/minute / 34-30 3T/ [Option ID = 35389]

Topic:- MAIN_Marathi Language
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1) AR e 7 S9UIRT W< 3fieET.
a9, °YST, AT, IH, FAT.

[Question ID = 8771]

1. %1 [Option ID = 35202]
2. HIHT [Option ID = 35201]
3. ©IST [Option ID = 35203]
4. 9 [Option ID = 35204]

Correct Answer :-
« &I [Option ID = 35202]

[Question ID = 8770]

1. 318 [Option ID = 35197]
2. g [Option ID = 35200]
3. Ul [Option ID = 35198]
4. 931d [Option ID = 35199]

Correct Answer :-
« Tdl [Option ID = 35198]

3) WUE-TTHIfa® , 98-
gfagra -2
[Question ID = 8778]

1. ISP [Option ID = 35229]
2. UfaeTRie [Option ID = 35230]
3. AfdedT [Option ID = 35232]
4. YR [Option ID = 35231]

Correct Answer :-

. Ufdei® [Option ID = 35230]

[Question ID = 8773]

1. §1¢ [Option ID = 35212]
2. Ul [Option ID = 35209]
3. {1 [Option ID = 35210]
4. BIR [Option ID = 35211]
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Correct Answer :-
« I [Option ID = 35212]

5) foq Ju iy 9. a1 I YRR o,
[Question ID = 8780]

1. grRIf [Option ID = 35240]
2. ERAME® [Option ID = 35239]
3. &R [Option ID = 35238]
4, gsmfes [Option ID = 35237]

Correct Answer :-

« BRI [Option ID = 35240]

[Question ID = 8789]

1. JUO+3{5d [Option ID = 35276]
2. gug+cief [Option ID = 35275]

3. QUg+3qd [Option ID = 35274]
4. qug+qruff [Option ID = 35273]

Correct Answer :-
» JUY+3{Hd [Option ID = 35276]

[Question ID = 8783]

1. Y [Option ID = 35250]
2. it [Option ID = 35251]

3. G¥& [Option ID = 35252]
4. 9gl [Option ID = 35249]

Correct Answer :-
« TXdb [Option ID = 35252]

[Question ID = 8788]

1. f&77 [Option ID = 35271]
2. 3/edIHTd [Option ID = 35269]
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3. HHERY [Option ID = 35270]
4. TUe! ATEY [Option ID = 35272]

Correct Answer :-
« PHHLRY [Option ID = 35270]

[Question ID = 8779]

1. QrgId ST IR [Option ID = 35235]
2. 3didedl R [Option ID = 35234]
3. Udlieredl dR [Option ID = 35233]
4. gUS! 8T [Option ID = 35236]

Correct Answer :-

« Talldsdl IR [Option ID = 35233]

10) Ui aramdia yyrde qara s,

TP AT A a1 .
[Question ID = 8786]

1. AFEFSTET PUG! SUHM B 2. [Option ID = 35262]

2. PG HIH Fal=t QAT FH1 B1? [Option ID = 35261]

3. AT FEFSATET I Faf-1 @RI ifgel. [Option ID = 35263]
4. gTYe} ATEY [Option ID = 35264]

Correct Answer :-
o APEISITET HIF Fal-t IRAASAT Febl BT? [Option ID = 35261]

11) Yéta areTan greRIdl gt sier.
JAIT RIS SATYVT FURIA HT g A2

[Question ID = 8784]

1. IR RIS FURIAA o -1, [Option ID = 35255]

2. I SIS 30T HURIAd ddl. [Option ID = 35253]

3. IR SRS 30T $URIAd daral Ulfgel. [Option ID = 35254]
4. TYeT ATEY [Option ID = 35256]

Correct Answer :-

o I TS YU FURIAd JIR—IaT GTigel. [Option ID = 35254]
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YeRdsST
[Question ID = 8774]

1. 91 fagiar 99g [Option ID = 35213]
2. GeRT f¢agidn 94g [Option ID = 35215]
3. IU! ATET [Option ID = 35216]

4. <7 feaaran ¥ [Option ID = 35214]

Correct Answer :-

« UeRT faqyiar 95 [Option ID = 35215]

[Question ID = 8775]

1. 90! [Option ID = 35218]
2. 33Ul [Option ID = 35217]
3. USUI [Option ID = 35220]
4, YTG0! [Option ID = 35219]

Correct Answer :-
« Ul [Option ID = 35218]

14) qEa SUSH WgraT WRTSY ufazres forgr.

~

< -
[Question ID = 8776]

1. ¥RT [Option ID = 35223]
2. Ulg [Option ID = 35224]
3. X [Option ID = 35221]
4. gId [Option ID = 35222]

Correct Answer :-
o dX [Option ID = 35221]

[Question ID = 8772]

1. Uq [Option ID = 35208]
2. U19 [Option ID = 35205]
3. BId [Option ID = 35206]
4. UI3d [Option ID = 35207]

Correct Answer :-
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e TS [Option ID = 35207]

[Question ID = 8781]

1. 3{f9 [Option ID = 35241]

2. SIRd [Option ID = 35242]

3. HHRT [Option ID = 35243]
4. TYeT ATEY [Option ID = 35244]

Correct Answer :-
o DHHIRAI [Option ID = 35243]

17) 7eTd 9 S9UIRT ¥ SEl.
[Question ID = 8787]

1. IHdT [Option ID = 35266]
2. ART [Option ID = 35268]
3. T[T&l [Option ID = 35265]
4. 91T [Option ID = 35267]

Correct Answer :-
« T[Tl [Option ID = 35265]

18) ‘®R’ &1 YT A dUR HAdl a1 9aiy 3fiesar.
[Question ID = 8777]

1. 9t [Option ID = 35227]

2. IIHR [Option ID = 35225]

3. gt A8l [Option ID = 35228]
4. THHR [Option ID = 35226]

Correct Answer :-
« JHPR [Option ID = 35226]

19) IRy fRmfRe sryean waly sier.
3ITefl FUImID farAvdid tRAYR 3R,

[Question ID = 8782]

1. TIUS! AT [Option ID = 35248]

2. 3ot UM, 'feugid URA%R 3/l [Option ID = 35247]
3. 3TST TGU!, foruaid tRASR SRYdl. [Option ID = 35245]

4. 3{TST TEUMT!, fRAvaid TRAR 3RI? [Option ID = 35246]

GET IT ON
Google Play
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Correct Answer :-

o 3ol TGS, "FRHugid tRAYR 3L’ [Option ID = 35247]

20) Y fRMRR srader yafy sier.
e AR & A 3R fopdt
[Question ID = 8785]

1. a8, ARI% o AT 3iaR fadii?' [Option ID = 35257]
2. dTs! IR o AT 3R fael. [Option ID = 35259]
3. gTUeh! AT [Option ID = 35260]

4, T8, RI% o AT 3icR fadi? [Option ID = 35258]

Correct Answer :-

. TS, AR o AT 3R fddt? [Option ID = 35257]

Topic:- MAIN_LR

1) Which of the following pair exhibit the same relationship as exhibited by the given pair of words:

Doctor : Nurse

"JY gIfaedT TSI SIS IVHTO WTeld B0l Sieid HaY SRifaar 3Mg?: Siaex: 74 "
[Question ID = 8989]

1. Director : Actor / fe7e=i@: 3if¥Mar [Option ID = 36075]
2. Author : Reader / Wad: AD [Option ID = 36074]

3. Police : Criminal / OIciN: T[G7TR [Option ID = 36076]
4. Student : Teacher / fa=mff: fre/® [Option ID = 36073]

Correct Answer :-

« Director : Actor / f&7e=fd: 34f¥=aT [Option ID = 36075]

2) Which of the following diagrams indicates the best relation between India, Earth and Milky way?

Wreftate! HU STpedt HIRd, gt 3nfor SreT=RI g gaiaw day gifaa?

[Question ID = 8985]

| Iu-_l |I'_ .I
1. ™~ [Option ID = 36058]
2. [Option ID = 36059]

©

3. [Option ID = 36057]
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BB

4. O [Option ID = 36060]

Correct Answer :-

.l [Option ID = 36057]

3) Dev, Rahim, Kaur,Archit, Sneha, Khushi, Esha, and Rajiv are sitting around a circle, facing at the
center, in an interview. Kaur is immediate right to Dev, Who is 4th to the right of Archit. Sneha is 2nd

to the left of Dev and is 4™ to the right of Esha. Khushi is 2" to the right of Rahim, who is 2"9 to the
right of Rajiv. Who is third to the right of Dev.

ST A AT IoTAT JIo[aT qHalt 378, Sit Sfdaurgs ¥t oire. W1 a=ar ST SIS[an gu=t I 3mg
ST S=TTeAT ISTaT arSfa ¥t 3ire. Gt Iewar It SI[en 3§ 318, ISiiaar ISt SIS[El X BIT 3T,
ST STHT JISAT 3T HHIBTAR BIUT 3172

[Question ID = 8982]

1. Rajiv / XTSild [Option ID = 36047]
2. Rahim / Y819 [Option ID = 36046]
3. Sneha / &8I [Option ID = 36045]
4. Archit / 3ffeid [Option ID = 36048]

Correct Answer :-
« Rajiv / XTSitd [Option ID = 36047]

4) Kajal starting from her house, goes 6 km in the East, then she turns to his left and goes 3 km.
Finally she turns to her left and goes 6 km. Now how far is she from her house?

PO faeaT TRTUTYA URY HRd, Taw 6 BT o1, o= <f STiPps god Sfor 3 fet wird. s <t fa=am
STdtHS qosd 3for 6 faret wird. aimar ot foream wRuREA fordt ® ame?

[Question ID = 8969]

1. 5 km / 5 &t [Option ID = 35993]
2. 2 km / 2 foHt [Option ID = 35995]
3. 6 km / 6 faH [Option ID = 35996]
4. 3 km / 3 foHT [Option ID = 35994]

Correct Answer :-

« 3 km/ 3 f&Ht [Option ID = 35994]

5) When the given figure is folded in a shape of dice then answer the following.

Q) What number will be opposite to 5?
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QT ATHdl BIRATAT MTHRIT GRS SRIdT, WIATd YT SR 1.
UY) & =T JHR IV G=AT 3HaA?

[Question ID = 9005]

1. 1 [Option ID = 36137]
2. 4 [Option ID = 36140]
3. 2 [Option ID = 36138]
4. 3 [Option ID = 36139]

Correct Answer :-
e 1 [Option ID = 36137]

6) Analyze the following situation and give your reaction:-

You live in a society. You find your neighbor so annoying that you can't concentrate on your work
and can't live in peace, you will?

@reiter affRIAR fageyor = sfor smuelt wfafsear om:-
3(TYUT THT JIATAC! IgTATd. STUAT AR TFel TRISTS 3T 1 MTYUT STUAT HTHIGR T Piad B dhd
TS SfOT RMiddd ] A AT, TR ST of HRTe?”

[Question ID = 8979]

1. None of these / ITd! Thg! ATal [Option ID = 36036]

2. Complain about it to the chairman of society. / ®lldgd TN sefidhe dmR BRI [Option ID = 36033]

3. Talk to them and tell them about difficulties you are having due to them. / TRl Sl JrETel SIOM=AT AT
Hrfgdl i e, [Option ID = 36034]

4. You will get angry and pick up a fight with them. / gTdT X[ g anfor EJ,'%’[ TRt ARMRY HRId. [Option ID
= 36035]

Correct Answer :-

« Talk to them and tell them about difficulties you are having due to them. / &=l SicH JrETal BIUM=AT
AT Aifgal AT EMe. [Option ID = 36034]

7) Analzye the following statements and then answer the question.

if "Chin Pu Do Tou" is the code for "Ship is in ocean"
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"Su Tou Pu Ro"is the code for "Pacific ocean is biggest"
"Mo Pe Na Ho Do Cho" is the code for "Sailing against wind in the night"

Then, "Is Pacific biggest ocean ship in night" is coded as:-

1)Pu Su Tou Ho Do Cho Ro

2)Pu Su Ro Tou Chin Do Cho
3) Su Ro Chin Tou Do Cho Pu
4) Ro Tou ChinPoDo Suro.

Frefte areT fagawor 37 311 Hdr U= IR 0.

SR "Chin Pu Do Tou"gT ®IS “dic JYSTd 3Te” AIdT 344,
"Su Tou Pu Ro"g1 &I “URIfthe Tqx Hald diaT 3ie” TSt 3d,
"Mo Pe Na Ho Do Cho" BT ®18 "Rt ga=aT fawg fe== ward #vu” arrdt e,

T “URiftre € TN TaEri Jafd |1l die R araTdt U Bis fw?

1) Pu Su Tou Ho Do Cho Ro

2) Pu Su Ro Tou Chin Do Cho
3) Su Ro Chin Tou Do Cho Pu
4) Ro Tou ChinPoDo Suro.

[Question ID = 8995]

1. 1 [Option ID = 36097]
2. 4 [Option ID = 36100]
3. 2 [Option ID = 36098]
4. 3 [Option ID = 36099]

Correct Answer :-
o 2 [Option ID = 36098]

8) Re-arrange the following letters to form a meaningful word.

"ONMRGNI"

" 3rfquf ATl Yeiar &R TaT-ouafeyd Pv.
" ONMRGNI "
[Question ID = 9006]

1.2,1,4,5,7,6,3 [Option ID = 36142]
2.3,1,4,2,7,6,5 [Option ID = 36141]
3.7,6,5,4,3,2,1 [Option ID = 36144]
4.1,4,5,3,7,6,2 [Option ID = 36143]

Correct Answer :-
e 3,1,4,2,7,6,5 [Option ID = 36141]

9) In a certain code If "HONDA" is coded as "KLQAD". Which is the code for "KITE"?

TR TETET Aidhdld UTHHSE "HONDA" BT ¥sg "KLQAD" WU aTuRdl. “KITE” "KITE" 9T ®IS HIUdT 318?
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[Question ID = 8972]

1. ANKR [Option ID = 36008]
2. JTRN [Option ID = 36005]
3. NFWB [Option ID = 36007]
4. XDEB [Option ID = 36006]

Correct Answer :-
« NFWB [Option ID = 36007]

10) In a movie fair, there are some people. 80 of them Loves DC, 90 loves Disney while 100 loves
Marvel movies. If 40 loves both DC and Disney, 35 loves Disney and Marvel while 30 loves Marvel
and DC. If 10 loves all the three, then what is the total number of people present there? If everyone
loves at least one.

Tt B3RAE PIE AP AR, AADT ¢o TUNHT SR sMasal, o FurHT fE| 3masar 3fdr Qoo Suri=m arda
YIS MaSard. ¥o Suri= SR 3for f&d Qe smasard, 34 wron-T f5& snfor arda =gt 3nfor 30 Suri=
Trde 3for St g srasaTd. WR 20 SUNAT 94 fag smasd Srdie a¥ dd UHur fhedt suadt SufRua
3Tgd? SR YASA fhHM TP 3HTasd.

[Question ID = 8993]

1. 250 [Option ID = 36090]
2. 200 [Option ID = 36089]
3. 175 [Option ID = 36092]
4. 135 [Option ID = 36091]

Correct Answer :-
» 175 [Option ID = 36092]

11) Arrange the following in orderly manner:-

1) Brain

2) Stomach

3) Knee

4) Foot

5) Vocal chords

Hrefte quqis! a1y Higufl ST
1) 4g

2) Ui

3) TEHT
4) U qe5al

5) ¥WRdq
[Question ID = 8994]

1. 1,2,3,4,5 [Option ID = 36093]
2. 1,3,2,5,4 [Option ID = 36096]
3.1,5,2,3,4 [Option ID = 36095]
4. 1,4,5,3,2 [Option ID = 36094]
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Correct Answer :-
e 1,5,2,3,4 [Option ID = 36095]

12) Six people are sitting in a row, they are Archit, Akshay, Naman, Naveen, Karan, and Deepak. It
is also known that there are as many people between Akshay and Naveen as there are between
Karan and Naveen. The only person between Archit and Naman is Naveen. Karan is sitting
somewhere to the right of Akshay. Who is Definitely sitting at the end of row?

3nfdd, 3r&ra, 0, A, BT TfOr Stues &I HET okl NS IHeT 3Mgd. 31&rd 3o T arearaed
Rraaan saedY 3med fadaama saerdit H3u1 3nfor 7= greaTa engd. sifa enfor 79+ gi=am e wad Uepd ot
T TR, HRT AT ISP S Pt THAT 3Te. AR AT RIS Aat BT 0 31?2

[Question ID = 8970]

1. Akshay / 31&d [Option ID = 35997]

2. Deepak / &ld® [Option ID = 35999]

3. Karan / XUl [Option ID = 35998]

4. None of these / U0 Teha! AT [Option ID = 36000]

Correct Answer :-
« Deepak / &lUe [Option ID = 35999]

13) By how much degree minute hand is ahead of hour hand in 1 minute?
fafere ®1er § fifReTa ara ST [ iz ge wirar
[Question ID = 8976]

1. 6 Degree / 6 3% [Option ID = 36022]

2.11/ 2 Degree / 11 / 2 3= [Option ID = 36023]
3.7/ 2 Degree /7 / 2 3% [Option ID = 36024]
4, 7 Degree / 7 3= [Option ID = 36021]

Correct Answer :-
e 11/ 2 Degree / 11 / 2 3i= [Option ID = 36023]

14) There are 6 people Archit, Naveen, Akshay, Naman, Deepak, and Prashant. Archit is taller than
Akshay. Naman is shorter than Deepak. Deepak is taller than Prashant. Prashant is shorter than
Naman but taller than Naveen. Naman is taller than Archit. Naveen is shorter than Akshay.

Who is tallest among all?

3iffa, A=, 3rera, THA, iU, USRI =T & AT 3med. iffd srermuen I 3mg. TH- I Srupien s
3. <IU® URiaueT 99 3e. U=Iidad I9t 70T 9T HHI 318 YT af Adauen 39 3. THT iffauen 39
3MTe. A=l I Srerauem wHt arme.

gafd 39 1T 31e?
[Question ID = 8973]

1. Naman / 7H- [Option ID = 36010]
2. Akshay / 3{&T [Option ID = 36011]
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3. Prashant / URIid [Option ID = 36012]
4. Deepak / &IUd [Option ID = 36009]

Correct Answer :-
« Deepak / EIUa& [Option ID = 36009]

GET IT ON
Google Play

15) There is a group of 7 people, 3 plays basketball while 4 plays cricket. They all are standing in a
queue for name registration from Right to left. If no cricket player can be at last position from both

sides. No basket player can stand adjacent to each other and if one cricket player is standing at 3rd

position from left and no 3 cricketers can stand together in the row.

Question : Sum of positions of all the basketball players standing from the right will be?

"o AP T 71T 3T, WTHD! 3 TRBedld Weadld, @R ¥ fhdre Wosdrd. d 9d A1a Aiguiand) Iia
ISdIP g STdids I 3Ted. SR fhthe WTg Il ATSAT RAadt SHT IE XPHd A9, SIF IRPedd WDTg
THABTAT AR IY AF AHd AT 1T TH fhdbe WDTg STAIBFH 3T UGG 3T 31107 3 fordsesd

AT B IW Il
UY: STAIPF SWT AT TRIBea e WBTgedl RITId! THUT TBAT fhedi??

[Question ID = 8990]

1. 10 [Option ID = 36077]
2. 12 [Option ID = 36080]
3. 15 [Option ID = 36079]
4. 9 [Option ID = 36078]

Correct Answer :-
e 12 [Option ID = 36080]

16) A cube Completely painted from outside then the cube cut into 343 pieces, then the number of

cubes whose atleast 1 face is painted is:-

THT RSHT JTedl HIT YUiyo} [AAar 8. TR @rd 3¥3 s HRuaTd 3Td, % fHa 2 a1 Fifaddt

3R 3 forelt g areeltar?
[Question ID = 8997]

1. 218 [Option ID = 36108]
2. 100 [Option ID = 36105]
3. 125 [Option ID = 36106]
4. 130 [Option ID = 36107]

Correct Answer :-
o 218 [Option ID = 36108]

17) A boy has Rs 700 in the denominations of Rs 5, Rs 10, Rs 20 .The number of notes of each

denomination is equal. What is the total number of notes that he have?

THT GATUTRH THUT . 000 FAB] TqHH YT T 7.4, F.20, F.0 T AT 3Ted. UdP THHAT et

ST G 3T, THATUTRIT THUT fbelt e sradiar?

[Question ID = 8992]
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1. 100 [Option ID = 36087]
2. 50 [Option ID = 36085]
3. 60 [Option ID = 36086]
4. 40 [Option ID = 36088]

Correct Answer :-
e 60 [Option ID = 36086]

18) 1f 25th december 2017 is Monday, then 10 march 2020 will be:-

25 fEdaR 2017 FHARY 3R a= 10 HIH 2020 F JAA?
[Question ID = 8978]

1. Monday / §HdR [Option ID = 36029]

2. Sunday / XfddR [Option ID = 36032]

3. Tuesday / HT&dR [Option ID = 36030]
4. Wednesday / 4dRR [Option ID = 36031]

Correct Answer :-
 Tuesday / HT&dR [Option ID = 36030]

19) A polygon has 8 vertices, how many diagonals are there in the polygon?

THT SgYT SATpdrar ¢ RRIfEg smed. T 1 3pta fbedt FHof Yot Smea?
[Question ID = 8974]

1. 22 [Option ID = 36014]
2. 20 [Option ID = 36013]
3. 18 [Option ID = 36016]
4. 14 [Option ID = 36015]

Correct Answer :-
e 20 [Option ID = 36013]

20) Find the statement that must be true according to the given information.

Ramesh has a paper route. Each morning, he delivers 40 newspapers to customers in his
neighborhood. It takes Ramesh 55 minutes to deliver all the papers. If Ramesh is sick or has other
plans, his Cousin Suresh, who lives on the same street, will sometimes deliver the papers for him.

fedear AR TaR R aad fauU™ o o Jim.

IR IAHTUT IICUTTET U A1 TR, ISl HhTas! df Tl SIgad UTH=AT UTghiHT Yo TAATUA areuddl.
Td gdaEUT arevarTdt TARE wy fAfe anTard. 0w SR} SreaTy fhar B8 Sav BT T, AT
fEP1oft IguRT @ YIS, PR FHiwH Tremast adaHTER aeusal.

[Question ID = 8983]

1. Suresh would like to have his own paper route. / RIS T Id: a1 FAHUSTEl AT 3fa@ad. [Option ID =
36052]
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2. It is dark outside when Ramesh begins his deliveries. /@meaﬁ dlex PTeog AT, [Option ID =
36051]

3. Ramesh and Suresh live in the same neighborhood. /WHWWW Igdld. [Option ID = 36049]

4. It takes Suresh more than 50 minutes to deliver the papers / JRRICT TAHFYS FTCTaRNITS! Yo AT SR
IRTdTd. [Option ID = 36050]

Correct Answer :-
« Ramesh and Suresh live in the same neighborhood. / YA @ YRR U TE fEHT0M GdTd. [Option ID = 36049]

21) Find the missing image.

TS AT STt TPl HIvTd o Ji.

i =

[Question ID = 9001]

Yy

1. L= [Option ID = 36123]

I/_'“\.
2. L~ | [Option ID = 36122]
3. " ' [Option ID = 36124]
4. [Option ID = 36121]

Correct Answer :-

. \; [Option ID = 36123]

22) Find the missing image.

TS AT STt Tl HIvT o .

[Question ID = 8988]

1. [Option ID = 36072]

2. [Option ID = 36071]
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[Option ID = 36069]

[Option ID = 36070]

Correct Answer :-

[Option ID = 36070]

GET IT ON
Google Play

23) Find the missing image:-

MBATT AT TPHel BT o .

-

[Question ID = 9000]

1. % [Option ID = 36118]

[Option ID = 36117]

[Option ID = 36119]

4, L—1 [Option ID = 36120]

Correct Answer :-

[Option ID = 36119]

24) Find the missing image :-

TS AT STt TPl BV o Ji.
B
G °
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[Question ID = 8977]

Y

[Option ID = 36025]

D

[Option ID = 36028]

E

[Option ID = 36027]

L

4, L [Option ID = 36026]

Correct Answer :-

[Option ID = 36027]

GET IT ON
Google Play

25) Find The missing image:-

TS AT STt STl BV o .

<

] —

[Quest

ion ID = 8987]

[Option ID = 36066]

2. : \ [Option ID = 36065]

3. E [Option ID = 36067]

I

b
¥

4. Z [Option ID = 36068]

Correct Answer :-

. /I [option ID = 36068]

26) Find mirror image of following :-

Treid TP Iae ufapl rem:-
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PR

[Question ID = 8984]

1. [Option ID = 36054]
O
J
2. [Option ID = 36056]
3. [Option ID = 36053]
o .
e
4. [Option ID = 36055]

Correct Answer :-

A9

. [Option ID = 36053]

27) Find mirror image :-

Qreite TPl e Ui Q-

TR fass

[Question ID = 8999]

3

1. [Option ID = 36115]

=

2. [Option ID = 36114]
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[Option ID = 36116]

M| |

[Option ID = 36113]

Correct Answer :-

W

. [Option ID = 36115]

28) Anu told Akshay "He is half of the age of Ram's at present and Ram's age is quarter the age of
his parents combined ". If mother's age is 32 years and father's age is quarter more than the age of
mother. What is the age of Anu?

S ST Fifad BT AT AT 9 AT e 31e ST IR 99 T STsafS oiedT 99T AR -
g‘g’myfqran%. TS 99 3R 9 3w 3nfor afSai 99 SMF=ar quTieT UH-agyfn sifte seuTd, 3 a9
?

[Question ID = 8975]

1. 9 year / 9 @¥ [Option ID = 36019]
2. 4 year / 4 @ [Option ID = 36020]
3. 2 year / 2 @ [Option ID = 36018]
4.5 year / 5 98 [Option ID = 36017]

Correct Answer :-
« 9year /9 ¥ [Option ID = 36019]

29) What was the day of week on 19 November 1994?

2% AR 2] Y it HIVET IR SlaT?
[Question ID = 8998]

1. Saturday / ¥HdR [Option ID = 36111]
2. Monday / AR [Option ID = 36109]
3. Sunday / XfdaR [Option ID = 36112]

4. Tuesday / HTe5dR [Option ID = 36110]

Correct Answer :-
« Saturday / QAR [Option ID = 36111]

30) Read the given conditions carefully and give answer:-

Performance of a laptop can be given by:-

1) Laptop has a cost price of 50,000 rs and comes at 10% discount on christmas.
2) Laptop has 4GB ram,1 TB Hard disk,1 GB graphics card.
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3) It will be used for playing heavy games and multi process.

Prooyd® feaedr 3rdt aram Sfor 3= .
THT dUeiudt HRIGHaT:-

1) fuervs! fHud 50,000 FUI 3T SMMOT TR ATATS I 0% TE 3ATE.
2) dueiqyed 4 Siidt 39, 1 A 818 faw, 1 it mfve &1 3.
3) T 2t =T STIOT et MATdt SuahT St Ssd. "

[Question ID = 9004]

1. Only 1 is sufficient / Hd® 1 @@ 38 [Option ID = 36133]
2. Only 3 is sufficient / %de 3 QXY 318 [Option ID = 36135]
3. Only 2 is sufficient / %d 2 QXY 318 [Option ID = 36134]
4. None of these / T HTeTE! ATe! [Option ID = 36136]

Correct Answer :-
« Only 2 is sufficient / %ae 2 Q¥ 31T [Option ID = 36134]

31) Read the statement and answer.

1) No table is chair
2) All chairs have 4 legs.

Conclusion:-
1) No table have 4 legs
2) Some chairs are table

{3y =T Snfor I .

1) $oord qd § gl g,
2) 94 geafqr 9r U 3red.

e -

1) HIUIATE! STATAT 4 UTT TR I.
2) T8l oAt C9d 3MRd.

[Question ID = 8996]

1. Both 1 and 2 follows / 1 30 2 TT e WTATAYHTT! [Option ID = 36103]
2. Only 2 follows / %de5 2 JTATTYHTT! [Option ID = 36102]

3. Only 1 follows / $dc 1 JIATAYHTI [Option ID = 36101]

4. None of these / TTdd! Tdhg! AT [Option ID = 36104]

Correct Answer :-

« None of these / TTUe! Teha! ATET [Option ID = 36104]

32) Read the statement and answer.

1) All mobiles are iphone.
2) Some iphones are hackable.
3) Some hackable are mobiles.

Conclusion:-
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1) Some mobile are hackable.
2) Some hackables are iphone.
3) Some hackable are not mobile.

faem= arar 3nfor IR -

1) gd METSd TABIA 3ATed.
2) FTE! ATAHIF TP HIVIINY 3(T3d.
3) FTE 5P HIVINRY HITSd 3M3d.

fAree:-

1) FTE! AT 8P HIVATARY 3(Ted.
2) FTE! TP HYVITIRY TAHI 3MT3d.
3) P13 5P HIVIIRY HITISd ATgId.

[Question ID = 8971]

1. Only 2 follows / ®dd R &Iﬂ,ﬂﬂ% [Option ID = 36002]
2. Only 3 follows / a3 3fERIA [Option ID = 36003]
3. All follows / ﬂéﬂ% [Option ID = 36004]

4. only 1 Follows / Thdd § &FﬁTla [Option ID = 36001]

Correct Answer :-
« All follows / ¥4 g, [Option ID = 36004]

33) Read the statement and answer :-

1) Some tomatoes are red.
2) All red are ripe.

Conclusion:-
1) All tomatoes are ripe.
2) No tomatoes are ripe.

faem=r arar anfor IR 1.

1) HT8I el AT 3ATed.
2) 94 a1 fUwad 3.

e -
1) 94 el fUwad 3.
2) del e AI.

[Question ID = 8986]

1. Both 1 and 2 follows / 1 3O 2 TT GIa WIATAYHTO! [Option ID = 36063]
2. Only 2 follows / Tad 2 GINIRPEIY [Option ID = 36062]

3. Only 1 follows / $dc 1 JIATAYHT [Option ID = 36061]

4. None follows / ®Tglg! 8! [Option ID = 36064]

Correct Answer :-
« None follows / ®Tglal ATe! [Option ID = 36064]
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34) Read the following statement carefully and answer the question following:-

A is the father of C, but C is not his son.B is the daughter of C. Z is the wife of A. M is the brother of
C. N is the son of M. L is the wife of M. T is the father of L.Who is Grandmother of N?

"gdia fAuT Sreosiiyde arar i1 @refta gy I @ -

A BT C 3T T 31mg, T¥g C a1 & gl B 81 ¢ @t H=a1aiie . Z 81 A, It Udit 318, C I1 UTS; M 3ATe. N§TM
T G 3. L &1 M o Uelt Mg, T ] L T 9Sia 3 | N i 3Mreit wior?

[Question ID = 8980]

1. N [Option ID = 36039]
2. A [Option ID = 36037]
3. C [Option ID = 36040]
4. M [Option ID = 36038]

Correct Answer :-
e A [Option ID = 36037]

35) Pointing at a picture Shalini said to Rohan "The man standing at back holding the waterbottle is
brother of your only sister's mother while man standing in left of him is the only son in law of that
man's father , who is on the right, and the one sitting at bottom is the brother of the person on left."

Q) How is Rohan related to the person on left.

ReETss g T IAg-Tar Wurmett, “uTuaT STed! gTdTd SRl UTSTHRT SUT raadTl HIVRT 81 gedT ThHd
sfgviiear sngar YIS 3T TR T STHIPs SHT AT HIUN 8T T HIVRITAT afSaidl THHd W1dg 3iTe, S
Iodids 3Tg, SATOT WIdta gHee ATV 8T STdidhs SraedT HIUETET HTS, 318"

) STdiPs AT HIUTHTRT A= AT H1Y?
[Question ID = 9003]

1. Son / H&TT [Option ID = 36129]

2. Father / @81d [Option ID = 36130]

3. Cousin / gaid YT, 3YdT ds1UT [Option ID = 36131]
4. Uncle / T [Option ID = 36132]

Correct Answer :-
e Son / &I [Option ID = 36129]

36) Pointing to Sarla, Ridhima said, "She is the only daughter of my Father's only daughter". How is
Ridhima related to Sarla?

Warws AE w1 Rt wormed, Wt wrgan e vpawn e gar! vead! T gadit sme.” Rt
TR ATd B2

[Question ID = 8991]

1. Aunt / A1a=ft [Option ID = 36083]
2. Mother / 31T$ [Option ID = 36081]
3. Sister / SIUT [Option ID = 36082]
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4. Neice / YTt [Option ID = 36084]

Correct Answer :-
« Mother / 3MT$ [Option ID = 36081]

GET IT ON
Google Play

37) If "ARMSTRONG" is coded as "ZINHGILMT" Then "VXPU" will be coded as:-

SR TETR[T AiddId YGHE "ARMSTRONG" T Xeg "ZINHGILMT" U qIURdl. X "VXPU" AT HIs
PITAT 3MR?

[Question ID = 8981]

1. ECKF [Option ID = 36044]

2. CEDR [Option ID = 36041]
3. MORN [Option ID = 36042]
4. NODE [Option ID = 36043]

Correct Answer :-
o ECKF [Option ID = 36044]

38) Ankit, Becky, Chinku, Deepu, Eli, Fancy, Golu and Himanshu are sitting around a circle facing to
center. Fancy is third to the right of Chinku and second to the left of Himanshu. Deepu is not an
immediate neighbour of Chinku or Himanshu. Eli is to the immediate right to Ankit, who is second to

the right of Golu.

Question :- Who is sitting between Golu and Deepu?

sifwd, a1, fig, fay, geit, BT, M snfvr fwig) & THT Manviadt qafdgers dis o aua Mgd. b=t
B it Sodies fawdt e snfvr fRwixrear srdiws gust one. fey &t i fhar fRwizmem e At
FHA! ATEL. 3ot Sifdraear @ Ierdids aHd! 37 T Ft Mar STdies gaaT HHIBTER 3Tg.

u: - e 31T iy Fiear 7 B0 g 3Te?
[Question ID = 9002]

1. Himanshu / fgHTY] [Option ID = 36127]
2. Becky / 91 [Option ID = 36126]

3. Fancy / = [Option ID = 36128]

4. Ankit / 3ifard [Option ID = 36125]

Correct Answer :-
« Fancy / %4t [Option ID = 36128]

39) If 5 people Arjun, Karan, Ankur, Rajiv, and Nikhil are standing in a queue. If Arjun is standing
between Ankur and Karan. Rajiv is standing at extreme left. Nikhil is standing at just right to Ankur.

Karan is standing at just right to Rajiv.

Who is on third position from left?

3(SfH, BRI, 3P, et MivT AR i SN SMRd. SR e 3B STIOT HUT gieam Fedt 3M1g. Ieid AT
TIPS IUT 3MTe. (AT it aw Sodiws 33, HIUI ISiadl o Sodihs SUT 3T8.
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STdlw g foaeRT ST 3mg?
[Question ID = 8968]

1. Nikhil / fAfRa@ [Option ID = 35992]
2. Ankur / 3{$ [Option ID = 35990]
3. Karan / XU [Option ID = 35989]
4. Arjun / 3fSfFT [Option ID = 35991]

Correct Answer :-
« Arjun / 35 [Option ID = 35991]

40) If 5 people Arjun, Karan, Ankur, Rajiv, and Nikhil are standing in a queue. If Arjun is standing
between Ankur and Karan. Rajiv is standing at extreme left. Nikhil is standing at just right to Ankur.
Karan is standing at just right to Rajiv.

Who is at the most right direction?

3SfH, HRV, 3P, Ieita ior AR I IN MR, SR 3ol T 3P 9 HRUT YiedTd IHT e a% el
STHT 15[ 3T 3MTe. A sigp=ar Iudiws 3. HRl Ieiia=aT Sudibs 33.

Hald Iodiws HIvT 3R?
[Question ID = 8967]

1. Rajiv / ITSitd [Option ID = 35987]
2. Nikhil / FTR9< [Option ID = 35985]
3. Karan / @07 [Option ID = 35986]
4. Arjun / 3fSfFT [Option ID = 35988]

Correct Answer :-
« Nikhil / F9R&@ [Option ID = 35985]

Topic:- MAIN_QA

1) If some of the roots of ax? + bx + ¢ = Obe equal to the sum of the squares, then:-

R ax? + bx + ¢ = 07 Y& ARFT=AT INSgad Mg, -

[Question ID = 8952]

1. ab + b2 = 2ac[Option ID = 35925]
2. bc + ¢ = 2ab [Option ID = 35926]

3. ac + ¢ = 2bc [Option ID = 35927]
4. None of these / TT0®! Teha! ATE! [Option ID = 35928]

Correct Answer :-
« ab + b2 = 2ac[Option ID = 35925]
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If A = cos20 + sin20, for all values of 6 then:-

R A = cos20 + sin20, § GHIHIUT 6 TT 4 eI aIS! 318, d:-

[Question ID = 8954]

|
16 [Option ID = 35934]

3 13
T A

2. * 16 [Option ID = 35935]

[Option ID = 35936]
< A < 2 [Option ID = 35933]

Correct Answer :-

2<Aa<i
. 2 [Option ID = 35936]

3) 1If p and g are non-zero constants, the equation x2 + px + g = 0 has roots a and B, the equation
gx2 + px +1 = 0 has roots:-

mp%aq%;%ﬁa?fﬁnwx’fn%aawwﬁ+px+q=o€rq§6aa|san%a,a?mﬂmurqx2+px+1
= 0 I g XM,

[Question ID = 8951]

1. 2 [Option ID = 35921]
2. [Option ID = 35923]

3, & [Option ID = 35922]
4. None of these / TT0®! Tdha! AT [Option ID = 35924]

Correct Answer :-
1 1
—and—

. o £ [option ID = 35923]

4) In a lottery, there are 10 prizes and 25 blanks. A lottery is drawn at random. What is the
probability of getting a prize?

T diedld 10 9879 9 4 NP 314, Aled) W TGl PIeel . a¥ 98 arTuam! srerrdn fadt?

[Question ID = 8964]

1
1. 1% [Option ID = 35973]
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N
=1

[Option ID = 35975]

[Option ID = 35974]

L | B

4, [Option ID = 35976]

Correct Answer :-

=1 | Ba

[Option ID = 35975]

GET IT ON
Google Play

5) From a pack of 52 cards, two cards are drawn together at random. What is the probability of both

the cards being kings?

4R TITHYA BIVAE! G U Pled. a Gi-el U ITSiTd fravarht rerar fard! sme?

[Question ID = 8965]

25

1. 57 [Option ID = 35978]
1

2. ' [Option ID = 35980]
35

3. 258  [Option ID = 35979]

4. ** [Option ID = 35977]

Correct Answer :-
1

221 IOption ID = 35980]

6) A man saves Rs. 320 during the first month, Rs. 360 in the second month, Rs. 400 in the third
month. If he continues his savings in this sequence, in how many months will he save Rs. 20,000?

THT AU feedn Afg=ard ¥ 320 S99 dat, ga-AT Hig=dTd ¥.360 Sdd! gdd deit 9 fag=a1 wfg=ara %.400
gﬁaﬁrﬂaﬁ.mwﬁmu&ﬁ%mmmﬁwmﬁﬁﬁmﬁazmooosﬁﬁm
?

[Question ID = 8961]

1. 22 months / 22 Iﬂ%ﬁ [Option ID = 35963]
2. 20 months / 20 AfH [Option ID = 35964]
3. 25 months / 25 A [Option ID = 35962]
4. 28 months / 28 A [Option ID = 35961]

Correct Answer :-
« 25 months / 25 Afga [Option ID = 35962]
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If the numbers 3k + 4, 7k +1 and 12k-5 are in A.P, then the value of kis:-

R BHID 3k + 4, 7k +1 30T 124-5 § 3PS T.U A Gdd, TR A Ted BTA?
[Question ID = 8963]

1. 5 [Option ID = 35972]
2. 4 [Option ID = 35971]
3. 2 [Option ID = 35969]
4. 3 [Option ID = 35970]

Correct Answer :-
o 3 [Option ID = 35970]

8) A boat is rowed away from a cliff 150 m high. At the top of the cliff, the angle of depression of
the boat changes from 60° to 45° in 2.5 minutes. The speed of the boat (in m/sec) is:-

& dic qegad Qo Hl. 39 frAr=urean g¥ A, fB==arear a=v=ar URTIREA e |rel suarEn S 2.4 fifFera
go d ¥4 3 Fgardt.a¥ aidtar a1 (f/dde) fdt?

[Question ID = 8957]

1. 2V3=3 [0option ID = 35948]
14—
2. ¥3 " [Option ID = 35945]
3. V313 [option ID = 35947]
1
-7
4, [Option ID = 35946]

Correct Answer :-

1
1__.—
VE

. [Option ID = 35946]

9) 1f 8, 2 are the roots x2 +ax+b=0and 3, 3 are the roots of X2 +ax+b= 0, then the roots of
the equation x2 + ax + b = 0 are:-

WEITIB X2 +ax+b=0T AN 3,33B X2 +ax +b=0d IS WA R AU X2 + ax + b=
0T U FI?

[Question ID = 8950]

. -8, =2 [Option ID = 35919]
. =9, 2 [Option ID = 35918]
. 8, -1 [Option ID = 35917]
.9, 1 [Option ID = 35920]

N W N =

Correct Answer :-
* 9, 1 [Option ID = 35920]
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10)

Ifx=a(b—-c)y=blc—-a),z=cla-b) then (Z)g : 2 (%)3 > = (E)Eis equal to

X

swx=alb—c);y=blc—a),z=cla-b), W (;)3 - (%)34“ G)E e o

[Question ID = 8947]

G el
1. abc [Option ID = 35905]
A x+ y+ =)
2. {abe)  [Option ID = 35908]
3 LY
b
3. “% [Option ID = 35907]
L

3 abc

4, [Option ID = 35906]

Correct Answer :-
xyz
b
. “%€ IOption ID = 35907]

11) =
T — /563 . find the value of x> + x—la

[5—3

[E4.3 1
Sy =23 o 34 = S e G

V53 ° a2
[Question ID = 8949]

1. 488 [Option ID = 35915]
2. 644 [Option ID = 35913]
3. 512 [Option ID = 35914]
4. 348 [Option ID = 35916]

Correct Answer :-
e 488 [Option ID = 35915]

am 1+cos8 1—cosf
Ifn<6<— then + is equal to=-
=T 2 1—cos8 1+cosd

3m 1+cosd 1—cosf
N EEfs—, + =T 9ART FT ?
2 1—cos8 1+cosf

[Question ID = 8955]
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. 2 sec 0 [Option ID = 35939]

. 2 cosec 6 [Option ID = 35937]
. —sec 0 [Option ID = 35940]

. —2 cosec 8 [Option ID = 35938]

A WN -~

Correct Answer :-
e —2 cosec 6 [Option ID = 35938]

13)
2 ; 2 T
The value ﬂftﬂIlTH —ta_ul_ — \.ﬁtaﬂ—n '[EIIll_ is -
5 1 5 15

=]

- 2 k
tan — —tan — — m@tanfntani_ T AT FIT ?
5 15 5 15

[Question ID = 8953]

1. 1 [Option ID = 35931]

—~3
2. [Option ID = 35929]

3. [Option ID = 35932]

gor i 'ﬁ

4, [Option ID = 35930]

Correct Answer :-

V3

. [Option ID = 35932]

14) On the same side of a tower, two objects are located. Observed from the top of the tower, their
angles of depression are 45° and 60°. If the height of the tower is 150 m, the distance between the
objects is:-

TTaveaT UhTd SIS[@T M axq 3Ted, eTavedT RIERTaw= R0l Sl 3raar 3 fewd % gt 9% 45° 9 60°
T BTG STT MRd. SR T eTavdl Idt 150 m. 318, @R G191 a3 (objects) A 3R fordt sdar?

[Question ID = 8946]

1. 90 m [Option ID = 35904]

2. 63.5 m [Option ID = 35901]
3. 76.9 m [Option ID = 35902]
4. 86.7 m [Option ID = 35903]

Correct Answer :-
e 63.5 m [Option ID = 35901]

15) A flagstaff of height 1/5 of the height of a tower is mounted on the top of a tower. If the angle
of elevation of the top of the flagstaff as seen from the ground is 45° and the angle of elevation of
the top of a tower as seen from the same place is 6, then the value of tan 0 is:-
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TPT TTARAR, TTGVTAT THUT Ul 1/5 JHHT taoiay SHT 3MTg. SR a7 SaoRa U avd
ST ¥4 DI 3T SMTOT TTaae Ul SRIAT LA T R SIdh @ 3T 3&Ad X ¢ 0 I Ted fapet:?

[Question ID = 8958]

&
5 .

1. [Option ID = 35950]
3

2. & [Option ID = 35951]
5
& .

3. [Option ID = 35949]
=+
5

4. = [Option ID = 35952]

Correct Answer :-
5

&
. [Option ID = 35949]

16) A tree is broken by the wind. Its upper part touches the ground at a point 10 metres from the
foot of the tree and makes an angle of 45° with the ground. The entire length of the tree is:-

TP TS I ded. STl adid U AfIaR st feaft w=f w8« ang 1 fswom s
TRRATA A 3R 10 HieR 3T 9 STSTAT ad YN A gdd 45° =1 SITd arwdr 318, 9% AISTH! THUl
3 faeit?

[Question ID = 8956]

1. 20 metres [Option ID = 35943]
2. 15 metres [Option ID = 35941]

V3
10 (1 + —) metres
3. 2 [Option ID = 35944]
lﬂ(u 2+ 1) metres )
4. [Option ID = 35942]

Correct Answer :-
e 20 metres [Option ID = 35943]

17) The perimeter of a triangle is 100 cm and its sides are in the ratio 1 : 2 : 3. The area of the
triangle (in cm?) is:-

g P o ufkfRrdt 200 Tt 3 @ a1 HrpivmeaT SIS TUNRR ( ratio) 1:2:3 3 318, X ™1 AU
AAFS (in cm?2) Aed fardt sa?

[Question ID = 8959]

100v7

1 [Option ID = 35956]
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2. 100¥5 rop5tion 1D = 35955]

100v/3

3 [Option ID = 35953]

100415 _
4, [Option ID = 35954]

Correct Answer :-

100415 _
. [Option ID = 35954]

18) The 5t" terms of the sequence defined by t; = 2,t; = 3and t,, = t,—; + t,— forn = 3.

ty = 2, ty = 33T t, = t-1 + ty-p 7 n = 3 GRTURUIRG FHARI ydt e Hord.
[Question ID = 8962]

1. 13 [Option ID = 35965]
2. 15 [Option ID = 35967]
3. 18 [Option ID = 35968]
4. 16 [Option ID = 35966]

Correct Answer :-
e 13 [Option ID = 35965]

19) The area of a trapezium is 275 cm?2. If the parallel sides are in the ratio 2 : 3 and the
perpendicular distance between them is 5 cm, then the smaller of the parallel sides is:-

THT AT AFABS 275 cm?2 FAB! 3T, SR IT SAATAT GHIaR IS JUNTR 2 : 3 3dP 318 9 T &
TroAeNe TS 3R 5 cm 3R, R & FHIAR IfUd! AT F15] HIUII?

[Question ID = 8948]

1. 40 cm [Option ID = 35910]
2. 44 cm [Option ID = 35911]
3. 48 cm [Option ID = 35912]
4. 36 cm [Option ID = 35909]

Correct Answer :-
e 44 cm [Option ID = 35911]

20) The dimensions of a room are 10 m X 7 m x 5 m. There are 2 doors and 3 windows in the room.
The dimensions of the doors are 1 m x 3 m. One window is of size 2 m x 1.5 m and other two

windows are of size 1 m x 1.5 m. The cost of painting the walls at Rs. 3 per m?

TP & (Edd ) AMPRAF 10 m X 7 m x 5 m 318 . Tidiar 2 gears 9 3 fasar sngd. S exasaid
STHRHATT 1 m x 3 m 3ATe. THT fASHIAT SMHFR 2 m x 1.5 m 318 9 3R 2 ST 1 m x 1.5 m ATHRT=AT
3T, ART F 3 Uil TR Hex yar Ridi=ar Srerrer v fdt @ ader

[Question ID = 8960]

is:-
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1. Rs.578 / % 578 [Option ID = 35958]
2. Rs. 474 |/ ¥ 474 [Option ID = 35957]
3. Rs.684 / % 684 [Option ID = 35959]
4. Rs.894 / ¥ 894 [Option ID = 35960]

Correct Answer :-
e Rs. 474 /% 474 [Option ID = 35957]
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